#### College of Arts and Sciences

ollege of All		010110000																					
				2nd	Fall	3rd I	all		4th Fal	II			5th Fal				6th Fa				7th Fa	1	
Department	Cabart	N 1st	Average	Cohort R	Retained	Cohort R	etained	Cumulative Gr	aduated within	Cohort R	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative G	raduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort R	tetained
Department	Conon	Fall	SATC	Within Sa	me Dept	Within Sa	me Dept	3 yrs in S	Same Dept	Within Sa	me Dept	4 yrs* in 3	Same Dept	Within Sa	ame Dept	5 yrs in S	Same Dept	Within Sa	me Dept	6 yrs in S	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
ANT	1992	8	913	5	62.5	4	50.0	0	0.0	3	37.5	0	0.0	2	25.0	2	25.0	0	0.0	2	25.0	0	0.0
ANT	1993	8	1000	5	62.5	3	37.5	0	0.0	3	37.5	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	12.5
ANT	1994	9	923	8	88.9	6	66.7	0	0.0	6	66.7	1	11.1	3	33.3	4	44.4	0	0.0	5	55.6	0	0.0
ANT	1995	12	883	8	66.7	4	33.3	0	0.0	3	25.0	2	16.7	1	8.3	3	25.0	0	0.0	3	25.0	0	0.0
ANT	1996	15	1067	7	46.7	3	20.0	0	0.0	4	26.7	1	6.7	2	13.3	3	20.0	1	6.7	3	20.0	0	0.0
ANT	1997	7	1135	2	28.6	1	14.3	0	0.0	2	28.6	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
ANT	1998	11	990	7	63.6	3	27.3	0	0.0	2	18.2	1	9.1	2	18.2	1	9.1	1	9.1	2	18.2	0	0.0
ANT	1999	6	1038	5	83.3	3	50.0	0	0.0	3	50.0	1	16.7	1	16.7	1	16.7	0	0.0	1	16.7	0	0.0
ANT	2000	12	1017	5	41.7	2	16.7	1	8.3	1	8.3	2	16.7	0	0.0	2	16.7	0	0.0	2	16.7	0	0.0
ANT	2001	11	1022	8	72.7	5	45.5	0	0.0	4	36.4	0	0.0	2	18.2	3	27.3	0	0.0				
ANT	2002	12	1073	9	75.0	4	33.3	0	0.0	2	16.7	1	8.3	2	16.7	•							
ANT	2003	8	998	4	50.0	4	50.0	1	12.5	1	12.5												
ANT	2004	19	1007	11	57.9	6	31.6																
ANT	2005	5	1026	4	80.0																		
ANT	2006	9	1028																				

				2nd F	all	3rd I	Fall		4th Fal				5th Fal	l			6th Fa				7th Fa	I	
Department	Cohort	N 1st	Average	Cohort Re	etained	Cohort R	etained	Cumulative Gra	duated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort R	Retained	Cumulative Gra	aduated within	Cohort R	tetained
Department	Conon	Fall	SATC	Within San	ne Dept	Within Sa	me Dept	3 yrs in Sa	me Dept	Within Sa	ime Dept	4 yrs* in S	ame Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	me Dept	6 yrs in Sa	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
** ART	1992	6	893	5	83.3	3	50.0	0	0.0	3	50.0	0	0.0	3	50.0	2	33.3	0	0.0	2	33.3	0	0.0
ART	1993	13	946	12	92.3	8	61.5	0	0.0	7	53.8	4	30.8	3	23.1	7	53.8	0	0.0	7	53.8	0	0.0
ART	1994	8	913	7	87.5	5	62.5	0	0.0	3	37.5	2	25.0	1	12.5	3	37.5	0	0.0	3	37.5	0	0.0
ART	1995	13	899	11	84.6	10	76.9	0	0.0	6	46.2	3	23.1	5	38.5	8	61.5	0	0.0	8	61.5	0	0.0
ART	1996	25	1038	18	72.0	13	52.0	0	0.0	10	40.0	6	24.0	1	4.0	7	28.0	1	4.0	8	32.0	1	4.0
ART	1997	22	1026	17	77.3	13	59.1	1	4.5	11	50.0	7	31.8	3	13.6	11	50.0	0	0.0	11	50.0	0	0.0
ART	1998	24	1014	18	75.0	12	50.0	0	0.0	11	45.8	6	25.0	3	12.5	7	29.2	1	4.2	8	33.3	1	4.2
ART	1999	28	1014	25	89.3	21	75.0	0	0.0	17	60.7	9	32.1	8	28.6	14	50.0	0	0.0	15	53.6	0	0.0
ART	2000	34	998	25	73.5	20	58.8	0	0.0	16	47.1	11	32.4	3	8.8	13	38.2	0	0.0	13	38.2	0	0.0
ART	2001	20	1031	15	75.0	15	75.0	0	0.0	14	70.0	10	50.0	2	10.0	12	60.0	0	0.0				
ART	2002	25	1056	16	64.0	14	56.0	0	0.0	14	56.0	12	48.0	1	4.0								
ART	2003	18	1103	16	88.9	9	50.0	0	0.0	10	55.6												
ART	2004 +	Starting	in fall 2004,	ART and TH	HA moved	to CVPA																	

				2nd F	all	3rd	Fall		4th Fal	I			5th Fal	l			6th Fal	I			7th Fa	I	
Department	Cohort	N 1st	Average	Cohort Re	etained	Cohort R	Retained	Cumulative Gr	aduated within	Cohort R	letained	Cumulative Gr	aduated within	Cohort R	letained	Cumulative Gra	aduated within	Cohort R	letained	Cumulative Gra	aduated within	Cohort R	etained
Department	Conon	Fall	SATC	Within Sar	ne Dept	Within Sa	me Dept	3 yrs in S	ame Dept	Within Sa	me Dept	4 yrs* in S	Same Dept	Within Sa	me Dept	5 yrs in S	ame Dept	Within Sa	me Dept	6 yrs in S	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
BIO	1992	57	1031	49	86.0	36	63.2	0	0.0	25	43.9	6	10.5	12	21.1	15	26.3	3	5.3	17	29.8	1	1.8
BIO	1993	53	1024	35	66.0	26	49.1	0	0.0	20	37.7	9	17.0	8	15.1	13	24.5	3	5.7	14	26.4	1	1.9
BIO	1994	60	1001	43	71.7	22	36.7	0	0.0	17	28.3	7	11.7	9	15.0	11	18.3	4	6.7	16	26.7	0	0.0
BIO	1995	59	971	43	72.9	22	37.3	0	0.0	18	30.5	7	11.9	9	15.3	13	22.0	1	1.7	13	22.0	0	0.0
BIO	1996	51	1093	31	60.8	16	31.4	0	0.0	13	25.5	6	11.8	6	11.8	11	21.6	0	0.0	11	21.6	0	0.0
BIO	1997	41	1099	27	65.9	18	43.9	0	0.0	12	29.3	5	12.2	6	14.6	9	22.0	1	2.4	9	22.0	0	0.0
BIO	1998	60	1087	38	63.3	26	43.3	0	0.0	17	28.3	11	18.3	6	10.0	13	21.7	3	5.0	13	21.7	0	0.0
BIO	1999	47	1110	32	68.1	25	53.2	0	0.0	18	38.3	10	21.3	7	14.9	16	34.0	1	2.1	16	34.0	1	2.1
BIO	2000	53	1130	35	66.0	27	50.9	0	0.0	18	34.0	14	26.4	2	3.8	15	28.3	2	3.8	15	28.3	1	1.9
BIO	2001	53	1103	36	67.9	22	41.5	0	0.0	19	35.8	12	22.6	5	9.4	15	28.3	1	1.9				
BIO	2002	45	1110	31	68.9	23	51.1	1	2.2	18	40.0	12	26.7	4	8.9								
BIO	2003	43	1141	32	74.4	14	32.6	0	0.0	10	23.3												
BIO	2004	57	1101	37	64.9	29	50.9																
BIO	2005	61	1104	46	75.4																		
BIO	2006	54	1115																				

				2nd	Fall	3rd	Fall		4th Fal	l			5th Fal	I			6th Fa				7th Fa	I	
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	ame Dept	Within Sa	me Dept	3 yrs in S	ame Dept	Within Sa	ime Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	ame Dept	6 yrs in Sa	ame Dept	Within Sa	ame Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
CHE	1992	27	1137	22	81.5	18	66.7	0	0.0	15	55.6	9	33.3	4	14.8	12	44.4	0	0.0	12	44.4	0	0.0
CHE	1993	30	1104	18	60.0	12	40.0	0	0.0	9	30.0	6	20.0	1	3.3	7	23.3	0	0.0	7	23.3	0	0.0
CHE	1994	18	1044	15	83.3	10	55.6	0	0.0	8	44.4	5	27.8	3	16.7	6	33.3	0	0.0	6	33.3	0	0.0
CHE	1995	30	1132	29	96.7	22	73.3	1	3.3	14	46.7	9	30.0	5	16.7	12	40.0	1	3.3	13	43.3	0	0.0
CHE	1996	34	1207	27	79.4	17	50.0	0	0.0	16	47.1	7	20.6	6	17.6	10	29.4	1	2.9	10	29.4	0	0.0
CHE	1997	34	1187	24	70.6	17	50.0	0	0.0	13	38.2	11	32.4	3	8.8	12	35.3	0	0.0	12	35.3	0	0.0
CHE	1998	22	1223	16	72.7	12	54.5	2	9.1	8	36.4	6	27.3	3	13.6	7	31.8	2	9.1	7	31.8	2	9.1
CHE	1999	40	1138	25	62.5	15	37.5	0	0.0	11	27.5	5	12.5	2	5.0	6	15.0	0	0.0	6	15.0	0	0.0
CHE	2000	19	1173	16	84.2	12	63.2	0	0.0	11	57.9	9	47.4	2	10.5	11	57.9	0	0.0	11	57.9	0	0.0
CHE	2001	33	1162	22	66.7	16	48.5	0	0.0	15	45.5	11	33.3	4	12.1	14	42.4	0	0.0				
CHE	2002	38	1153	23	60.5	12	31.6	0	0.0	10	26.3	6	15.8	2	5.3								
CHE	2003	52	1180	45	86.5	33	63.5	0	0.0	25	48.1												
CHE	2004	50	1148	40	80.0	32	64.0																
CHE	2005	58	1165	44	75.9																		
CHE	2006	49	1143																				

				2nd	Fall	3rd	Fall		4th Fal	I			5th Fa	II			6th Fal	I			7th Fal	I	
Department	Cohort	N 1st	Average	Cohort R	etained	Cohort R	letained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort I	Retained	Cumulative Gra	aduated within	Cohort R	letained
Department	Conon	Fall	SATC	Within Sa	me Dept	Within Sa	me Dept	3 yrs in S	ame Dept	Within Sa	ime Dept	4 yrs* in S	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	ame Dept	6 yrs in Sa	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
COM	1992	24	956	23	95.8	16	66.7	0	0.0	16	66.7	6	25.0	9	37.5	13	54.2	0	0.0	13	54.2	0	0.0
COM	1993	40	944	26	65.0	19	47.5	0	0.0	15	37.5	11	27.5	2	5.0	14	35.0	1	2.5	15	37.5	0	0.0
COM	1994	43	962	28	65.1	21	48.8	0	0.0	19	44.2	7	16.3	7	16.3	12	27.9	1	2.3	12	27.9	2	4.7
COM	1995	31	956	22	71.0	16	51.6	0	0.0	16	51.6	11	35.5	5	16.1	15	48.4	0	0.0	15	48.4	0	0.0
COM	1996	37	1088	30	81.1	24	64.9	0	0.0	20	54.1	12	32.4	6	16.2	17	45.9	1	2.7	18	48.6	0	0.0
COM	1997	40	1087	34	85.0	25	62.5	1	2.5	20	50.0	11	27.5	9	22.5	17	42.5	0	0.0	18	45.0	0	0.0
COM	1998	57	1077	45	78.9	38	66.7	1	1.8	34	59.6	23	40.4	14	24.6	34	59.6	1	1.8	35	61.4	2	3.5
COM	1999	40	1088	35	87.5	28	70.0	0	0.0	25	62.5	16	40.0	9	22.5	23	57.5	3	7.5	24	60.0	1	2.5
COM	2000	34	1074	26	76.5	22	64.7	0	0.0	21	61.8	15	44.1	3	8.8	17	50.0	1	2.9	18	52.9	0	0.0
COM	2001	56	1083	44	78.6	35	62.5	2	3.6	33	58.9	24	42.9	7	12.5	29	51.8	0	0.0				
COM	2002	38	1088	29	76.3	25	65.8	2	5.3	21	55.3	20	52.6	3	7.9								
COM	2003	58	1101	47	81.0	37	63.8	1	1.7	33	56.9												
COM	2004	57	1074	49	86.0	35	61.4																
COM	2005	50	1081	41	82.0																		
COM	2006	47	1091																				

				2nd F	Fall	3rd I	Fall		4th Fal	ll			5th Fal	I			6th Fa	ll			7th Fa	I	
Department	Cohort	N 1st	Average	Cohort R	etained	Cohort R	letained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort I	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	me Dept	Within Sa	me Dept	3 yrs in S	Same Dept	Within Sa	ame Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	me Dept	6 yrs in S	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
CSC	1992	11	1037	10	90.9	8	72.7	0	0.0	6	54.5	3	27.3	2	18.2	4	36.4	1	9.1	4	36.4	1	9.1
CSC	1993	11	1076	10	90.9	6	54.5	0	0.0	7	63.6	1	9.1	6	54.5	4	36.4	3	27.3	5	45.5	1	9.1
CSC	1994	12	1048	8	66.7	5	41.7	0	0.0	3	25.0	1	8.3	0	0.0	1	8.3	0	0.0	1	8.3	0	0.0
CSC	1995	11	1004	4	36.4	3	27.3	0	0.0	2	18.2	1	9.1	1	9.1	1	9.1	1	9.1	2	18.2	0	0.0
CSC	1996	15	1135	11	73.3	6	40.0	0	0.0	5	33.3	0	0.0	3	20.0	2	13.3	2	13.3	2	13.3	2	13.3
CSC	1997	27	1088	18	66.7	12	44.4	0	0.0	9	33.3	4	14.8	4	14.8	8	29.6	1	3.7	9	33.3	0	0.0
CSC	1998	24	1114	17	70.8	14	58.3	0	0.0	11	45.8	4	16.7	5	20.8	7	29.2	1	4.2	7	29.2	1	4.2
CSC	1999	28	1130	21	75.0	14	50.0	0	0.0	10	35.7	3	10.7	3	10.7	5	17.9	1	3.6	6	21.4	0	0.0
CSC	2000	20	1121	15	75.0	13	65.0	1	5.0	9	45.0	4	20.0	2	10.0	4	20.0	0	0.0	4	20.0	0	0.0
CSC	2001	31	1108	21	67.7	14	45.2	0	0.0	8	25.8	2	6.5	2	6.5	4	12.9	1	3.2				
CSC	2002	34	1158	29	85.3	22	64.7	0	0.0	17	50.0	10	29.4	3	8.8								
CSC	2003	21	1104	20	95.2	13	61.9	1	4.8	6	28.6												
CSC	2004	15	1121	11	73.3	9	60.0																
CSC	2005	14	1124	10	71.4																		
CSC	2006	19	1097																				

				2nd	Fall	3rd	Fall		4th Fal	I			5th Fal	I			6th Fal				7th Fal	I	
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	me Dept	Within Sa	me Dept	3 yrs in S	Same Dept	Within Sa	me Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in Sa	ame Dept	Within Sa	ame Dept	6 yrs in Sa	ame Dept	Within Sa	ame Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
ENG	1992	47	965	34	72.3	22	46.8	0	0.0	19	40.4	8	17.0	9	19.1	15	31.9	2	4.3	16	34.0	0	0.0
ENG	1993	36	988	27	75.0	17	47.2	0	0.0	12	33.3	9	25.0	2	5.6	10	27.8	2	5.6	11	30.6	1	2.8
ENG	1994	29	1001	23	79.3	17	58.6	1	3.4	11	37.9	9	31.0	3	10.3	12	41.4	1	3.4	12	41.4	0	0.0
ENG	1995	30	1003	22	73.3	14	46.7	0	0.0	13	43.3	5	16.7	6	20.0	9	30.0	1	3.3	10	33.3	1	3.3
ENG	1996	29	1040	22	75.9	16	55.2	0	0.0	9	31.0	3	10.3	6	20.7	7	24.1	2	6.9	8	27.6	0	0.0
ENG	1997	41	1067	30	73.2	18	43.9	0	0.0	16	39.0	7	17.1	7	17.1	13	31.7	1	2.4	14	34.1	0	0.0
ENG	1998	36	1104	26	72.2	23	63.9	0	0.0	19	52.8	11	30.6	7	19.4	17	47.2	1	2.8	17	47.2	0	0.0
ENG	1999	28	1088	19	67.9	11	39.3	0	0.0	12	42.9	5	17.9	3	10.7	8	28.6	0	0.0	8	28.6	0	0.0
ENG	2000	41	1078	31	75.6	23	56.1	1	2.4	18	43.9	10	24.4	8	19.5	15	36.6	2	4.9	16	39.0	0	0.0
ENG	2001	26	1081	21	80.8	17	65.4	0	0.0	15	57.7	7	26.9	6	23.1	13	50.0	0	0.0				
ENG	2002	38	1124	25	65.8	22	57.9	0	0.0	18	47.4	7	18.4	10	26.3								
ENG	2003	57	1073	40	70.2	27	47.4	0	0.0	22	38.6												
ENG	2004	53	1138	43	81.1	20	37.7																
ENG	2005	65	1101	47	72.3																		
ENG	2006	59	1074																				

				2nd	Fall	3rd	Fall		4th Fa				5th Fa	I			6th Fal	l			7th Fal		
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort R	letained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	raduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort I	Retained	Cumulative Gra	duated within	Cohort R	etained
Department	Conon	Fall	SATC	Within Sa	ime Dept	Within Sa	me Dept	3 yrs in S	Same Dept	Within Sa	ame Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	ame Dept	6 yrs in Sa	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
ESC	1992	4	963	2	50.0	1	25.0	0	0.0	2	50.0	0	0.0	1	25.0	1	25.0	0	0.0	1	25.0	0	0.0
ESC	1993	5	896	4	80.0	1	20.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
ESC	1994	2	945	1	50.0	1	50.0	0	0.0	1	50.0	0	0.0	0	0.0	0	0.0	1	50.0	0	0.0	0	0.0
ESC	1995	4	958	3	75.0	2	50.0	0	0.0	2	50.0	1	25.0	1	25.0	2	50.0	0	0.0	2	50.0	1	25.0
ESC	1996	4	1080	4	100.0	2	50.0	0	0.0	1	25.0	0	0.0	1	25.0	0	0.0	0	0.0	0	0.0	0	0.0
ESC	1997	12	1036	9	75.0	7	58.3	0	0.0	5	41.7	0	0.0	5	41.7	4	33.3	0	0.0	4	33.3	0	0.0
ESC	1998	3	1097	2	66.7	2	66.7	0	0.0	1	33.3	0	0.0	1	33.3	1	33.3	0	0.0	1	33.3	0	0.0
ESC	1999	6	1070	3	50.0	2	33.3	0	0.0	1	16.7	0	0.0	1	16.7	1	16.7	0	0.0	1	16.7	0	0.0
ESC	2000	7	1031	7	100.0	5	71.4	0	0.0	4	57.1	2	28.6	2	28.6	3	42.9	0	0.0	4	57.1	0	0.0
ESC	2001	7	1073	5	71.4	5	71.4	0	0.0	4	57.1	3	42.9	1	14.3	4	57.1	0	0.0				
ESC	2002	6	1100	5	83.3	4	66.7	0	0.0	2	33.3	0	0.0	2	33.3								
ESC	2003	11	1062	7	63.6	4	36.4	0	0.0	3	27.3												
ESC	2004	12	1106	9	75.0	7	58.3																
ESC	2005	7	1060	3	42.9																		
ESC	2006	4	1098																				

				2nd	Fall	3rd	Fall		4th Fal	I			5th Fa	I			6th Fal	ll			7th Fa	I	
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	raduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	ame Dept	Within Sa	ame Dept	3 yrs in S	Same Dept	Within Sa	ame Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	me Dept	6 yrs in S	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
FLG	1992	8	944	6	75.0	3	37.5	0	0.0	2	25.0	0	0.0	1	12.5	2	25.0	0	0.0	2	25.0	0	0.0
FLG	1993	12	962	8	66.7	8	66.7	0	0.0	5	41.7	2	16.7	3	25.0	4	33.3	0	0.0	4	33.3	0	0.0
FLG	1994	11	974	8	72.7	4	36.4	0	0.0	3	27.3	2	18.2	1	9.1	2	18.2	1	9.1	2	18.2	0	0.0
FLG	1995	8	954	7	87.5	4	50.0	0	0.0	4	50.0	1	12.5	3	37.5	3	37.5	1	12.5	3	37.5	0	0.0
FLG	1996	6	966	5	83.3	3	50.0	1	16.7	1	16.7	1	16.7	1	16.7	1	16.7	1	16.7	1	16.7	1	16.7
FLG	1997	11	1026	8	72.7	5	45.5	0	0.0	4	36.4	2	18.2	1	9.1	3	27.3	0	0.0	3	27.3	0	0.0
FLG	1998	11	1002	7	63.6	4	36.4	0	0.0	3	27.3	1	9.1	2	18.2	2	18.2	0	0.0	2	18.2	0	0.0
FLG	1999	10	1050	9	90.0	4	40.0	0	0.0	7	70.0	3	30.0	3	30.0	5	50.0	0	0.0	5	50.0	0	0.0
FLG	2000	9	1022	5	55.6	4	44.4	0	0.0	2	22.2	2	22.2	0	0.0	2	22.2	0	0.0	2	22.2	0	0.0
FLG	2001	13	1042	11	84.6	7	53.8	0	0.0	5	38.5	3	23.1	2	15.4	5	38.5	0	0.0				
FLG	2002	9	1037	6	66.7	3	33.3	0	0.0	5	55.6	1	11.1	3	33.3								
FLG	2003	15	1150	12	80.0	9	60.0	0	0.0	5	33.3												
FLG	2004	20	1081	16	80.0	11	55.0																
FLG	2005	32	1078	23	71.9																		
FLG	2006	15	1105																				

				2nd	Fall	3rd	Fall		4th Fal	1			5th Fal				6th Fa				7th Fal	1	
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort R	Retained	Cumulative Gr	raduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	ame Dept	Within Sa	ame Dept	3 yrs in S	Same Dept	Within Sa	ime Dept	4 yrs* in S	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	ame Dept	6 yrs in Sa	ame Dept	Within Sa	ame Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
HIS	1992	26	980	20	76.9	16	61.5	0	0.0	16	61.5	8	30.8	7	26.9	12	46.2	2	7.7	14	53.8	0	0.0
HIS	1993	29	958	24	82.8	19	65.5	0	0.0	18	62.1	7	24.1	10	34.5	13	44.8	3	10.3	15	51.7	1	3.4
HIS	1994	23	995	17	73.9	11	47.8	0	0.0	10	43.5	5	21.7	4	17.4	6	26.1	2	8.7	6	26.1	1	4.3
HIS	1995	22	1033	18	81.8	14	63.6	0	0.0	13	59.1	8	36.4	4	18.2	11	50.0	1	4.5	12	54.5	0	0.0
HIS	1996	23	1058	20	87.0	17	73.9	0	0.0	14	60.9	5	21.7	8	34.8	11	47.8	1	4.3	12	52.2	0	0.0
HIS	1997	20	1058	16	80.0	12	60.0	0	0.0	11	55.0	6	30.0	3	15.0	6	30.0	3	15.0	8	40.0	0	0.0
HIS	1998	30	1086	27	90.0		66.7	0	0.0	15	50.0	8	26.7	6	20.0	13	43.3	1	3.3	14	46.7	0	0.0
HIS	1999	34	1053	24	70.6	19	55.9	0	0.0	15	44.1	5	14.7	10	29.4	10	29.4	1	2.9	11	32.4	0	0.0
HIS	2000	31	1078	22	71.0	18	58.1	0	0.0	17	54.8	7	22.6	8	25.8	13	41.9	0	0.0	14	45.2	0	0.0
HIS	2001	49	1095	39	79.6	32	65.3	0	0.0	28	57.1	14	28.6	9	18.4	21	42.9	3	6.1				
HIS	2002	51	1087	34	66.7	26	51.0	0	0.0	23	45.1	10	19.6	12	23.5								
HIS	2003	37	1081	26	70.3	18	48.6	0	0.0	13	35.1												
HIS	2004	64	1084	51	79.7	36	56.3																
HIS	2005	69	1087	48	69.6																		
HIS	2006	75	1091																				

				2nd	Fall	3rd	Fall		4th Fal				5th Fa				6th Fal	l			7th Fa		
Department	Cohort	N 1st	Average	Cohort I	Retained	Cohort F	Retained	Cumulative Gr		Cohort F	Retained		raduated within		Retained	Cumulative Gra		Cohort F	Retained	Cumulative Gr		Cohort F	Retained
Department	CONOIL	Fall	SATC	Within Sa	ame Dept	Within Sa	me Dept	3 yrs in S	ame Dept	Within Sa	ime Dept	4 yrs* in \$	Same Dept	Within Sa	ame Dept	5 yrs in Sa	ame Dept	Within Sa	ame Dept	6 yrs in S	ame Dept	Within Sa	ame Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
LSP	1996	1	1190	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
LSP	1997	5	1170	1	20.0	1	20.0	0	0.0	1	20.0	0	0.0	1	20.0	0	0.0	1	20.0	1	20.0	0	0.0
LSP	1998	4	1110	4	100.0	2	50.0	0	0.0	2	50.0	1	25.0	1	25.0	2	50.0	0	0.0	2	50.0	0	0.0
LSP	1999	1	1200	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
LSP	2000	10	1165	7	70.0	5	50.0	0	0.0	3	30.0	2	20.0	0	0.0	2	20.0	0	0.0	2	20.0	0	0.0
LSP	2001	8	1164	6	75.0	4	50.0	0	0.0	3	37.5	1	12.5	1	12.5	2	25.0	0	0.0				
LSP	2002	8	1234	7	87.5	6	75.0	0	0.0	5	62.5	2	25.0	2	25.0								
LSP	2003	6	1200	5	83.3	4	66.7	0	0.0	4	66.7												
LSP	2004	9	1199	9	100.0	8	88.9																
LSP	2005	6	1255	3	50.0																		
LSP	2006	12	1146																				

				2nd F	all	3rd	Fall		4th Fa				5th Fal	I			6th Fa				7th Fa	l	
Department	Cohort	N 1st	Average	Cohort Re	etained	Cohort R	etained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort I	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort R	tetained
Department	Conon	Fall	SATC	Within San	ne Dept	Within Sa	me Dept	3 yrs in S	Same Dept	Within Sa	ame Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	me Dept	6 yrs in S	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
MAT	1992	15	1007	8	53.3	5	33.3	0	0.0	2	13.3	2	13.3	0	0.0	2	13.3	0	0.0	2	13.3	0	0.0
MAT	1993	20	1050	13	65.0	8	40.0	0	0.0	5	25.0	1	5.0	4	20.0	4	20.0	1	5.0	5	25.0	0	0.0
MAT	1994	24	1087	14	58.3	5	20.8	0	0.0	5	20.8	1	4.2	2	8.3	1	4.2	1	4.2	2	8.3	0	0.0
MAT	1995	21	1010	16	76.2	7	33.3	0	0.0	5	23.8	1	4.8	3	14.3	4	19.0	0	0.0	4	19.0	0	0.0
MAT	1996	22	1124	18	81.8	11	50.0	0	0.0	10	45.5	6	27.3	1	4.5	8	36.4	0	0.0	8	36.4	0	0.0
MAT	1997	14	1119	12	85.7	6	42.9	0	0.0	2	14.3	0	0.0	2	14.3	3	21.4	0	0.0	3	21.4	0	0.0
MAT	1998	14	1139	12	85.7	8	57.1	1	7.1	5	35.7	3	21.4	2	14.3	5	35.7	0	0.0	5	35.7	0	0.0
MAT	1999	22	1109	21	95.5	13	59.1	0	0.0	6	27.3	3	13.6	1	4.5	4	18.2	0	0.0	4	18.2	0	0.0
MAT	2000	14	1089	10	71.4	4	28.6	0	0.0	3	21.4	2	14.3	1	7.1	3	21.4	0	0.0	3	21.4	0	0.0
MAT	2001	17	1116	13	76.5	13	76.5	0	0.0	10	58.8	4	23.5	4	23.5	7	41.2	1	5.9				
MAT	2002	29	1130	19	65.5	13	44.8	0	0.0	12	41.4	5	17.2	2	6.9								
MAT	2003	30	1123	24	80.0	17	56.7	0	0.0	13	43.3												
MAT	2004	29	1102	20	69.0	17	58.6																
MAT	2005	36	1138	26	72.2																		
MAT	2006	38	1091																				

				2nd	Fall	3rd	Fall		4th Fa				5th Fal	I			6th Fal	l			7th Fa		
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort R	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	ame Dept	Within Sa	ime Dept	3 yrs in S	Same Dept	Within Sa	ame Dept	4 yrs* in S	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	ame Dept	6 yrs in S	ame Dept	Within Sa	ame Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
PHI	1992	3	963	2	66.7	2	66.7	0	0.0	2	66.7	1	33.3	0	0.0	1	33.3	0	0.0	1	33.3	0	0.0
PHI	1993	0	-																				
PHI	1994	1	1060	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
PHI	1995	2	1005	2	100.0	2	100.0	0	0.0	2	100.0	0	0.0	2	100.0	1	50.0	1	50.0	1	50.0	0	0.0
PHI	1996	0	-																				
PHI	1997	2	1010	1	50.0	1	50.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
PHI	1998	1	1170	1	100.0	1	100.0	0	0.0	1	100.0	1	100.0	0	0.0	1	100.0	0	0.0	1	100.0	0	0.0
PHI	1999	3	1005	2	66.7	1	33.3	0	0.0	1	33.3	1	33.3	0	0.0	1	33.3	0	0.0	1	33.3	0	0.0
PHI	2000	1	1070	1	100.0	1	100.0	0	0.0	1	100.0	1	100.0	0	0.0	1	100.0	0	0.0	1	100.0	0	0.0
PHI	2001	3	1053	1	33.3	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0				
PHI	2002	0	-																				
PHI	2003	2	1145	0	0.0	0	0.0	0	0.0	0	0.0												
PHI	2004	3	1020	2	66.7	2	66.7																
PHI	2005	7	1094	2	28.6																		
PHI	2006	1	1040																				

				2nd	Fall	3rd	Fall		4th Fal				5th Fa	I			6th Fa				7th Fal	l	
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort F	Retained	Cumulative Gr	aduated within	Cohort I	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	ame Dept	Within Sa	ame Dept	3 yrs in S	ame Dept	Within Sa	ame Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	ame Dept	6 yrs in S	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
PHY	1992	7	1114	2	28.6	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
PHY	1993	4	1003	2	50.0	0	0.0	0	0.0	2	50.0	0	0.0	1	25.0	0	0.0	0	0.0	0	0.0	0	0.0
PHY	1994	10	1148	6	60.0	4	40.0	0	0.0	4	40.0	2	20.0	2	20.0	4	40.0	0	0.0	4	40.0	0	0.0
PHY	1995	4	1068	2	50.0	2	50.0	0	0.0	1	25.0	1	25.0	0	0.0	1	25.0	0	0.0	1	25.0	0	0.0
PHY	1996	10	1175	6	60.0	4	40.0	0	0.0	1	10.0	0	0.0	0	0.0	2	20.0	0	0.0	2	20.0	0	0.0
PHY	1997	7	1124	3	42.9	2	28.6	0	0.0	1	14.3	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
PHY	1998	6	1140	5	83.3	3	50.0	0	0.0	0	0.0	0	0.0	0	0.0	1	16.7	0	0.0	1	16.7	0	0.0
PHY	1999	2	1050	2	100.0	1	50.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
PHY	2000	8	1181	5	62.5	4	50.0	0	0.0	3	37.5	1	12.5	1	12.5	2	25.0	0	0.0	2	25.0	0	0.0
PHY	2001	2	1155	2	100.0	2	100.0	0	0.0	1	50.0	1	50.0	0	0.0	1	50.0	0	0.0				
PHY	2002	8	1134	6	75.0	3	37.5	0	0.0	2	25.0	1	12.5	1	12.5								
PHY	2003	11	1171	6	54.5	5	45.5	0	0.0	2	18.2												
PHY	2004	5	1210	5	100.0	5	100.0																
PHY	2005	18	1147	11	61.1																		
PHY	2006	10	1234																				

				2nd l	all	3rd I	Fall		4th Fal	II			5th Fa	I			6th Fa				7th Fa	1	
Department	Cohort	N 1st	Average	Cohort R	etained	Cohort R	etained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	me Dept	Within Sa	me Dept	3 yrs in S	Same Dept	Within Sa	ime Dept	4 yrs* in S	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	me Dept	6 yrs in S	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
PSY	1992	67	914	58	86.6	34	50.7	0	0.0	29	43.3	11	16.4	14	20.9	18	26.9	2	3.0	20	29.9	0	0.0
PSY	1993	74	942	50	67.6	34	45.9	0	0.0	26	35.1	14	18.9	9	12.2	18	24.3	3	4.1	20	27.0	0	0.0
PSY	1994	76	917	58	76.3	37	48.7	0	0.0	26	34.2	12	15.8	11	14.5	20	26.3	1	1.3	20	26.3	1	1.3
PSY	1995	87	937	69	79.3	40	46.0	0	0.0	38	43.7	21	24.1	17	19.5	27	31.0	4	4.6	29	33.3	1	1.1
PSY	1996	78	1010	61	78.2	42	53.8	0	0.0	37	47.4	21	26.9	14	17.9	27	34.6	4	5.1	28	35.9	1	1.3
PSY	1997	88	1012	63	71.6	45	51.1	1	1.1	37	42.0	18	20.5	14	15.9	26	29.5	3	3.4	29	33.0	0	0.0
PSY	1998	87	1007	66	75.9	45	51.7	0	0.0	37	42.5	17	19.5	15	17.2	24	27.6	3	3.4	26	29.9	0	0.0
PSY	1999	104	1023	73	70.2	51	49.0	0	0.0	33	31.7	11	10.6	18	17.3	23	22.1	2	1.9	23	22.1	1	1.0
PSY	2000	85	1012	54	63.5	37	43.5	0	0.0	31	36.5	16	18.8	7	8.2	20	23.5	3	3.5	22	25.9	1	1.2
PSY	2001	57	1089	43	75.4	30	52.6	0	0.0	28	49.1	22	38.6	4	7.0	24	42.1	2	3.5				
PSY	2002	62	1058	42	67.7	28	45.2	0	0.0	21	33.9	13	21.0	4	6.5								
PSY	2003	57	1091	47	82.5	35	61.4	1	1.8	31	54.4												
PSY	2004	64	1095	51	79.7	36	56.3																
PSY	2005	58	1092	50	86.2																		
PSY	2006	65	1074																				

				2nd	Fall	3rd	Fall		4th Fal	I			5th Fa				6th Fa	II			7th Fal	I	
Department	Cohort	N 1st	Average	Cohort R	Retained	Cohort F	Retained	Cumulative Gra	aduated within	Cohort R	etained	Cumulative Gra	aduated within	Cohort R	etained	Cumulative Gra	duated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	<pre>tetained</pre>
Department	Conon	Fall SATC Within Same Dept Within Same Dept				3 yrs in Sa	ame Dept	Within Sa	me Dept	4 yrs* in S	ame Dept	Within Sa	me Dept	5 yrs in Sa	ime Dept	Within Sa	me Dept	6 yrs in Sa	ame Dept	Within Sa	ime Dept		
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
** THA	1992	11	955	9	81.8	5	45.5	0	0.0	4	36.4	2	18.2	1	9.1	3	27.3	0	0.0	3	27.3	0	0.0
THA	1993	5	950	5	100.0	4	80.0	0	0.0	3	60.0	1	20.0	0	0.0	1	20.0	2	40.0	1	20.0	1	20.0
THA	1994	8	953	7	87.5	6	75.0	0	0.0	4	50.0	2	25.0	0	0.0	2	25.0	0	0.0	2	25.0	0	0.0
THA	1995	14	937	7	50.0	5	35.7	0	0.0	4	28.6	1	7.1	3	21.4	3	21.4	1	7.1	4	28.6	0	0.0
THA	1996	18	1010	14	77.8	8	44.4	0	0.0	6	33.3	2	11.1	2	11.1	4	22.2	1	5.6	4	22.2	1	5.6
THA	1997	18	1047	11	61.1	9	50.0	0	0.0	8	44.4	2	11.1	3	16.7	3	16.7	1	5.6	3	16.7	1	5.6
THA	1998	15	1077	9	60.0	6	40.0	0	0.0	6	40.0	3	20.0	3	20.0	6	40.0	0	0.0	6	40.0	1	6.7
THA	1999	19	1017	11	57.9	6	31.6	0	0.0	5	26.3	2	10.5	1	5.3	3	15.8	0	0.0	3	15.8	0	0.0
THA	2000	19	1016	14	73.7	10	52.6	0	0.0	8	42.1	5	26.3	4	21.1	8	42.1	1	5.3	8	42.1	0	0.0
THA	2001	12	1106	11	91.7	8	66.7	1	8.3	5	41.7	3	25.0	1	8.3	3	25.0	0	0.0				i
THA	2002	24	1015	15	62.5	12	50.0	0	0.0	6	25.0	2	8.3	3	12.5								ı
THA	2003	15	1008	14	93.3	14	93.3	0	0.0	10	66.7												i
THA	2004 +	Starting	in fall 2004,	ART and T	HA move	d to CVPA								÷									

				2nd	Fall	3rd	Fall		4th Fa				5th Fa				6th Fa				7th Fa		
Department	Cohort	N 1st	Average	Cohort I	Retained	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	ame Dept	Within Sa	ame Dept	3 yrs in S	ame Dept	Within Sa	ame Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	Same Dept	Within Sa	ame Dept	6 yrs in S	ame Dept	Within Sa	ame Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
WOS	2002	2	995	2	100.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0								
WOS	2003	0	-																				
WOS	2004	1	1110	1	100.0	1	100.0																
WOS	2005	1	1210	1	100.0																		
WOS	2006	1	1030																				

#### College of Business and Public Affairs

				2nd	Fall	3rd	Fall		4th Fal				5th Fa				6th Fal				7th Fal	l	
Department	Cohort	N 1st	Average	Cohort F		Cohort F			aduated within				aduated within			Cumulative Gra		Cohort R		Cumulative Gra		Cohort F	
Department	Conon	Fall	SATC	Within Sa	ame Dept	Within Sa	me Dept	3 yrs in S	Same Dept	Within Sa	ame Dept	4 yrs* in S	Same Dept	Within Sa	ame Dept	5 yrs in Sa	ime Dept	Within Sa	me Dept	6 yrs in Sa	ame Dept	Within Sa	ame Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
ACC	1992	33	1015	23	69.7	22	66.7	1	3.0	17	51.5	9	27.3	3	9.1	11	33.3	0	0.0	11	33.3	1	3.0
ACC	1993	34	1053	30	88.2	18	52.9	0	0.0	13	38.2	5	14.7	6	17.6	10	29.4	0	0.0	10	29.4	1	2.9
ACC	1994	40	1020	29	72.5	17	42.5	1	2.5	13	32.5	6	15.0	5	12.5	9	22.5	1	2.5	10	25.0	0	0.0
ACC	1995	23	954	21	91.3	20	87.0	0	0.0	12	52.2	6	26.1	5	21.7	11	47.8	0	0.0	11	47.8	0	0.0
ACC	1996	36	1089	22	61.1	19	52.8	0	0.0	13	36.1	6	16.7	5	13.9	7	19.4	2	5.6	8	22.2	0	0.0
ACC	1997	31	1053	27	87.1	16	51.6	0	0.0	10	32.3	4	12.9	4	12.9	6	19.4	3	9.7	7	22.6	1	3.2
ACC	1998	35	1064	26	74.3	25	71.4	0	0.0	16	45.7	7	20.0	0	0.0	7	20.0	0	0.0	7	20.0	0	0.0
ACC	1999	28	1073	22	78.6	17	60.7	0	0.0	15	53.6	6	21.4	5	17.9	7	25.0	1	3.6	8	28.6	2	7.1
ACC	2000	19	1079	15	78.9	15	78.9	0	0.0	9	47.4	5	26.3	2	10.5	5	26.3	2	10.5	5	26.3	0	0.0
ACC	2001	35	1091	28	80.0	21	60.0	0	0.0	16	45.7	8	22.9	7	20.0	13	37.1	0	0.0				1
ACC	2002	30	1055	23	76.7	21	70.0	1	3.3	16	53.3	6	20.0	8	26.7								1
ACC	2003	34	1083	28	82.4	23	67.6	1	2.9	17	50.0												1
ACC	2004	33	1079	26	78.8	22	66.7																i
ACC	2005	41	1118	34	82.9																		1
ACC	2006	39	1101																				i

				2nd F	all	3rd I	all		4th Fal	II			5th Fa	II			6th Fal	I			7th Fal	I	
Department	Cohort	N 1st	Average	Cohort Re	etained	Cohort R	etained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort R	Retained	Cumulative Gra	duated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sar	ne Dept	Within Sa	me Dept	3 yrs in S	ame Dept	Within Sa	ame Dept	4 yrs* in S	ame Dept	Within Sa	me Dept	5 yrs in Sa	ame Dept	Within Sa	ame Dept	6 yrs in Sa	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
CRJ	1992	51	891	41	80.4	32	62.7	0	0.0	28	54.9	15	29.4	14	27.5	22	43.1	2	3.9	23	45.1	1	2.0
CRJ	1993	58	912	41	70.7	30	51.7	0	0.0	22	37.9	9	15.5	10	17.2	20	34.5	0	0.0	20	34.5	0	0.0
CRJ	1994	38	977	27	71.1	26	68.4	0	0.0	22	57.9	18	47.4	3	7.9	20	52.6	2	5.3	21	55.3	1	2.6
CRJ	1995	37	973	25	67.6	22	59.5	0	0.0	21	56.8	12	32.4	8	21.6	19	51.4	0	0.0	19	51.4	0	0.0
CRJ	1996	37	1065	25	67.6	20	54.1	1	2.7	17	45.9	13	35.1	3	8.1	15	40.5	0	0.0	15	40.5	0	0.0
CRJ	1997	39	1057	32	82.1	27	69.2	0	0.0	24	61.5	16	41.0	4	10.3	19	48.7	0	0.0	20	51.3	0	0.0
CRJ	1998	41	1032	34	82.9	27	65.9	0	0.0	21	51.2	16	39.0	2	4.9	17	41.5	0	0.0	17	41.5	1	2.4
CRJ	1999	44	1065	37	84.1	31	70.5	1	2.3	27	61.4	20	45.5	4	9.1	24	54.5	0	0.0	24	54.5	1	2.3
CRJ	2000	47	1066	39	83.0	38	80.9	0	0.0	32	68.1	22	46.8	7	14.9	28	59.6	2	4.3	28	59.6	0	0.0
CRJ	2001	38	1084	29	76.3	23	60.5	0	0.0	20	52.6	15	39.5	3	7.9	18	47.4	1	2.6				
CRJ	2002	49	1058	34	69.4	29	59.2	0	0.0	25	51.0	18	36.7	2	4.1								
CRJ	2003	39	1091	29	74.4	25	64.1	2	5.1	17	43.6												
CRJ	2004	51	1103	41	80.4	36	70.6																
CRJ	2005	60	1091	48	80.0																		
CRJ	2006	51	1082																				

				2nd	Fall	3rd	Fall		4th Fal	I			5th Fal	I			6th Fa				7th Fa	I	
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative G	aduated within	Cohort I	Retained	Cumulative Gra	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	ame Dept	Within Sa	ame Dept	3 yrs in S	Same Dept	Within Sa	ime Dept	4 yrs* in \$	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	ame Dept	6 yrs in S	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
ECO	1992	4	1118	3	75.0	2	50.0	0	0.0	2	50.0	1	25.0	0	0.0	2	50.0	0	0.0	2	50.0	0	0.0
ECO	1993	3	1003	1	33.3	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
ECO	1994	3	993	3	100.0	2	66.7	0	0.0	2	66.7	2	66.7	0	0.0	2	66.7	0	0.0	2	66.7	0	0.0
ECO	1995	7	986	5	71.4	5	71.4	1	14.3	3	42.9	1	14.3	1	14.3	2	28.6	0	0.0	2	28.6	0	0.0
ECO	1996	9	1106	6	66.7	3	33.3	0	0.0	3	33.3	1	11.1	2	22.2	3	33.3	0	0.0	3	33.3	0	0.0
ECO	1997	15	1055	12	80.0	8	53.3	0	0.0	7	46.7	3	20.0	4	26.7	6	40.0	0	0.0	6	40.0	0	0.0
ECO	1998	10	1095	8	80.0	6	60.0	0	0.0	7	70.0	1	10.0	5	50.0	4	40.0	1	10.0	4	40.0	0	0.0
ECO	1999	19	1094	15	78.9	11	57.9	0	0.0	11	57.9	7	36.8	1	5.3	8	42.1	0	0.0	8	42.1	0	0.0
ECO	2000	10	1080	5	50.0	2	20.0	0	0.0	2	20.0	2	20.0	0	0.0	2	20.0	0	0.0	2	20.0	0	0.0
ECO	2001	17	1114	14	82.4	8	47.1	0	0.0	9	52.9	4	23.5	2	11.8	6	35.3	0	0.0				
ECO	2002	14	1121	11	78.6	9	64.3	0	0.0	6	42.9	2	14.3	1	7.1								
ECO	2003	20	1128	14	70.0	10	50.0	0	0.0	9	45.0												
ECO	2004	12	1156	10	83.3	8	66.7																
ECO	2005	14	1152	11	78.6																		
ECO	2006	16	1157																				

				2nd	Fall	3rd	Fall		4th Fa				5th Fa				6th Fa				7th Fa	I	
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	ame Dept	Within Sa	ame Dept	3 yrs in Sa	ame Dept	Within Sa	ame Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	ame Dept	6 yrs in S	ame Dept	Within Sa	ame Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
GEO	1992	2	1030	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
GEO	1993	0	-																				
GEO	1994	2	1110	2	100.0	1	50.0	0	0.0	1	50.0	1	50.0	0	0.0	1	50.0	0	0.0	1	50.0	0	0.0
GEO	1995	1	1060	1	100.0	1	100.0	0	0.0	1	100.0	1	100.0	0	0.0	1	100.0	0	0.0	1	100.0	0	0.0
GEO	1996	2	1125	2	100.0	2	100.0	0	0.0	1	50.0	1	50.0	0	0.0	1	50.0	0	0.0	1	50.0	0	0.0
GEO	1997	0	-																				
GEO	1998	0	-																				
GEO	1999	3	1087	3	100.0	2	66.7	0	0.0	2	66.7	1	33.3	1	33.3	1	33.3	0	0.0	1	33.3	0	0.0
GEO	2000	0	-																				
GEO	2001	0	-																				
GEO	2002	1	1070	1	100.0	1	100.0	0	0.0	1	100.0	1	100.0	0	0.0								
GEO	2003	1	990	1	100.0	0	0.0	0	0.0	0	0.0												
GEO	2004	3	1130	2	66.7	1	33.3																
GEO	2005	2	1005	2	100.0																		
GEO	2006	2	1155																				

				2nd l	Fall	3rd I	Fall		4th Fal				5th Fa	1			6th Fal	1			7th Fal	1	
Department	Cohort	N 1st	Average	Cohort R	etained	Cohort R	letained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	raduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort I	Retained	Cumulative Gra	aduated within	Cohort F	letained
Department	Conon	Fall	SATC	Within Sa	me Dept	Within Sa	me Dept	3 yrs in S	Same Dept	Within Sa	me Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	ame Dept	6 yrs in Sa	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
GVT	1992	23	911	20	87.0	12	52.2	0	0.0	9	39.1	3	13.0	4	17.4	5	21.7	1	4.3	6	26.1	0	0.0
GVT	1993	27	926	20	74.1	14	51.9	0	0.0	9	33.3	4	14.8	3	11.1	6	22.2	1	3.7	6	22.2	1	3.7
GVT	1994	22	890	12	54.5	8	36.4	0	0.0	3	13.6	1	4.5	2	9.1	2	9.1	1	4.5	2	9.1	0	0.0
GVT	1995	17	958	13	76.5	8	47.1	0	0.0	8	47.1	5	29.4	3	17.6	7	41.2	1	5.9	7	41.2	1	5.9
GVT	1996	28	1044	19	67.9	15	53.6	0	0.0	13	46.4	7	25.0	5	17.9	10	35.7	1	3.6	10	35.7	0	0.0
GVT	1997	19	1078	13	68.4	10	52.6	0	0.0	10	52.6	3	15.8	6	31.6	6	31.6	1	5.3	6	31.6	1	5.3
GVT	1998	22	1053	18	81.8	15	68.2	0	0.0	11	50.0	5	22.7	6	27.3	9	40.9	1	4.5	9	40.9	0	0.0
GVT	1999	23	1097	18	78.3	15	65.2	0	0.0	13	56.5	9	39.1	4	17.4	12	52.2	0	0.0	12	52.2	0	0.0
GVT	2000	16	1021	13	81.3	11	68.8	0	0.0	9	56.3	6	37.5	1	6.3	7	43.8	0	0.0	7	43.8	0	0.0
GVT	2001	21	1080	17	81.0	17	81.0	0	0.0	10	47.6	7	33.3	4	19.0	9	42.9	0	0.0				
GVT	2002	26	1061	22	84.6	15	57.7	0	0.0	14	53.8	8	30.8	3	11.5								
GVT	2003	24	1061	17	70.8	15	62.5	0	0.0	14	58.3												
GVT	2004	36	1076	27	75.0	23	63.9																
GVT	2005	36	1093	27	75.0																		
GVT	2006	34	1096																1				

				2nd	Fall	3rd	Fall		4th Fal	I			5th Fa	I			6th Fal	11			7th Fa	1	
Department	Cohort	N 1st	Average	Cohort R	Retained	Cohort R	letained	Cumulative G	raduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort	Retained	Cumulative Gra	aduated within	Cohort R	Retained
Department	Conon	Fall	SATC	Within Sa	me Dept	Within Sa	me Dept	3 yrs in 8	Same Dept	Within Sa	ame Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in Sa	ame Dept	Within S	ame Dept	6 yrs in Sa	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
MGT	1992	24	1019	17	70.8	11	45.8	C	0.0	10	41.7	7	29.2	2	8.3	8	33.3	0	0.0	8	33.3	0	0.0
MGT	1993	22	995	13	59.1	7	31.8	C	0.0	6	27.3	4	18.2	2	9.1	6	27.3	0	0.0	6	27.3	0	0.0
MGT	1994	38	1012	22	57.9	15	39.5	C	0.0	11	28.9	3	7.9	8	21.1	6	15.8	2	5.3	7	18.4	2	5.3
MGT	1995	43	964	33	76.7	28	65.1	C	0.0	18	41.9	8	18.6	9	20.9	14	32.6	1	2.3	14	32.6	0	0.0
MGT	1996	35	1081	25	71.4	17	48.6	C	0.0	14	40.0	5	14.3	8	22.9	9	25.7	0	0.0	10	28.6	1	2.9
MGT	1997	49	1055	36	73.5	30	61.2	C	0.0	23	46.9	5	10.2	13	26.5	16	32.7	1	2.0	16	32.7	0	0.0
MGT	1998	62	1074	45	72.6	34	54.8	C	0.0	28	45.2	13	21.0	12	19.4	22	35.5	1	1.6	22	35.5	2	3.2
MGT	1999	58	1059	49	84.5	38	65.5	C	0.0	29	50.0	15	25.9	9	15.5	22	37.9	0	0.0	22	37.9	0	0.0
MGT	2000	48	1084	38	79.2	31	64.6	C	0.0	22	45.8	12	25.0	11	22.9	19	39.6	2	4.2	21	43.8	0	0.0
MGT	2001	56	1098	42	75.0	32	57.1	C	0.0	28	50.0	19	33.9	7	12.5	25	44.6	0	0.0				
MGT	2002	50	1075	42	84.0	31	62.0	C	0.0	24	48.0	9	18.0	11	22.0								
MGT	2003	43	1086	34	79.1	26	60.5	C	0.0	21	48.8												
MGT	2004	38	1100	30	78.9	18	47.4																
MGT	2005	44	1129	39	88.6																		
MGT	2006	47	1111																				

				2nd	Fall	3rd	all		4th Fal				5th Fa	I			6th Fal	I			7th Fal	l	
Department	Cabat	N 1st	Average	Cohort R	etained	Cohort R	etained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort I	Retained	Cumulative Gra	duated within	Cohort R	tetained
Department	Conon	Fall	SATC	Within Sa	me Dept	Within Sa	me Dept	3 yrs in S	ame Dept	Within Sa	me Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	ame Dept	6 yrs in Sa	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
MKT	1992	13	1047	8	61.5	6	46.2	0	0.0	8	61.5	5	38.5	3	23.1	7	53.8	0	0.0	7	53.8	0	0.0
MKT	1993	7	1016	6	85.7	5	71.4	0	0.0	2	28.6	1	14.3	1	14.3	2	28.6	0	0.0	2	28.6	0	0.0
MKT	1994	14	1001	9	64.3	5	35.7	0	0.0	3	21.4	1	7.1	2	14.3	2	14.3	1	7.1	3	21.4	0	0.0
MKT	1995	14	990	11	78.6	10	71.4	0	0.0	8	57.1	3	21.4	5	35.7	8	57.1	0	0.0	8	57.1	0	0.0
MKT	1996	17	1058	13	76.5	12	70.6	0	0.0	10	58.8	4	23.5	5	29.4	8	47.1	1	5.9	8	47.1	0	0.0
MKT	1997	27	1072	18	66.7	13	48.1	0	0.0	13	48.1	8	29.6	5	18.5	11	40.7	2	7.4	12	44.4	1	3.7
MKT	1998	26	1055	21	80.8	18	69.2	0	0.0	17	65.4	6	23.1	10	38.5	14	53.8	0	0.0	14	53.8	0	0.0
MKT	1999	36	1065	28	77.8	24	66.7	0	0.0	20	55.6	10	27.8	7	19.4	15	41.7	0	0.0	16	44.4	0	0.0
MKT	2000	22	1098	20	90.9	19	86.4	0	0.0	18	81.8	11	50.0	5	22.7	13	59.1	2	9.1	13	59.1	2	9.1
MKT	2001	27	1099	20	74.1	15	55.6	0	0.0	14	51.9	11	40.7	2	7.4	13	48.1	1	3.7				
MKT	2002	37	1098	29	78.4	24	64.9	0	0.0	19	51.4	14	37.8	4	10.8								
MKT	2003	40	1107	32	80.0	24	60.0	0	0.0	20	50.0												
MKT	2004	31	1103	22	71.0	16	51.6																
MKT	2005	39	1137	26	66.7																		
MKT	2006	39	1099																				

				2nd	Fall	3rd	Fall		4th Fal	ll			5th Fa	ll			6th Fal				7th Fa	I	
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	raduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	ame Dept	Within Sa	me Dept	3 yrs in S	Same Dept	Within Sa	me Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	me Dept	6 yrs in Sa	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
SWK	1992	11	914	10	90.9	8	72.7	0	0.0	8	72.7	4	36.4	4	36.4	7	63.6	1	9.1	7	63.6	0	0.0
SWK	1993	13	945	10	76.9	7	53.8	0	0.0	7	53.8	5	38.5	1	7.7	7	53.8	0	0.0	7	53.8	0	0.0
SWK	1994	27	950	20	74.1	18	66.7	0	0.0	13	48.1	9	33.3	4	14.8	12	44.4	0	0.0	12	44.4	0	0.0
SWK	1995	18	955	15	83.3	14	77.8	1	5.6	10	55.6	10	55.6	0	0.0	11	61.1	0	0.0	11	61.1	0	0.0
SWK	1996	16	1046	12	75.0	9	56.3	0	0.0	8	50.0	6	37.5	1	6.3	7	43.8	0	0.0	7	43.8	0	0.0
SWK	1997	15	1094	12	80.0	9	60.0	0	0.0	9	60.0	6	40.0	1	6.7	7	46.7	0	0.0	7	46.7	0	0.0
SWK	1998	11	1035	10	90.9	7	63.6	0	0.0	6	54.5	4	36.4	1	9.1	4	36.4	1	9.1	4	36.4	1	9.1
SWK	1999	11	1058	9	81.8	9	81.8	1	9.1	5	45.5	5	45.5	1	9.1	6	54.5	0	0.0	6	54.5	0	0.0
SWK	2000	8	1123	5	62.5	3	37.5	0	0.0	3	37.5	2	25.0	0	0.0	2	25.0	0	0.0	2	25.0	0	0.0
SWK	2001	12	1010	7	58.3	6	50.0	0	0.0	6	50.0	5	41.7	1	8.3	6	50.0	0	0.0				
SWK	2002	16	1008	9	56.3	6	37.5	0	0.0	8	50.0	5	31.3	3	18.8								
SWK	2003	19	1016	12	63.2	12	63.2	0	0.0	9	47.4												
SWK	2004	22	995	18	81.8	13	59.1																
SWK	2005	17	962	10	58.8																		
SWK	2006	22	964																				

#### College of Education

College of Ed	ucution																						
				2nd	Fall	3rd	Fall		4th Fa	I			5th Fal	I			6th Fal	1			7th Fal	I	
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort I	Retained	Cumulative Gra	aduated within	Cohort R	Retained
Department	Conort	Fall	SATC	Within Sa	me Dept	Within Sa	me Dept	3 yrs in S	Same Dept	Within Sa	ame Dept	4 yrs* in S	ame Dept	Within Sa	ame Dept	5 yrs in Sa	ame Dept	Within Sa	ame Dept	6 yrs in Sa	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
EDA	1992	73	957	58	79.5	48	65.8	0	0.0	44	60.3	24	32.9	17	23.3	38	52.1	2	2.7	39	53.4	0	0.0
EDA	1993	62	925	48	77.4	42	67.7	0	0.0	40	64.5	20	32.3	16	25.8	34	54.8	3	4.8	36	58.1	2	3.2
EDA	1994	62	935	49	79.0	40	64.5	0	0.0	37	59.7	15	24.2	20	32.3	33	53.2	4	6.5	36	58.1	0	0.0
EDA	1995	69	932	54	78.3	45	65.2	0	0.0	41	59.4	19	27.5	22	31.9	39	56.5	0	0.0	39	56.5	0	0.0
EDA	1996	40	1015	32	80.0	29	72.5	0	0.0	26	65.0	13	32.5	12	30.0	23	57.5	1	2.5	24	60.0	0	0.0
EDA	1997	43	1040	35	81.4	29	67.4	0	0.0	25	58.1	15	34.9	11	25.6	25	58.1	1	2.3	26	60.5	0	0.0
EDA	1998	60	1014	49	81.7	39	65.0	0	0.0	30	50.0	16	26.7	12	20.0	25	41.7	4	6.7	28	46.7	1	1.7
EDA	1999	97	1010	77	79.4	54	55.7	0	0.0	47	48.5	14	14.4	32	33.0	40	41.2	2	2.1	44	45.4	0	0.0
EDA	2000	100	1021	76	76.0	61	61.0	1	1.0	54	54.0	34	34.0	20	20.0	51	51.0	1	1.0	51	51.0	0	0.0
EDA	2001	65	1027	55	84.6	45	69.2	0	0.0	43	66.2	23	35.4	12	18.5	34	52.3	2	3.1				
EDA	2002	94	1041	73	77.7	61	64.9	0	0.0	55	58.5	22	23.4	27	28.7								
EDA	2003	59	997	50	84.7	39	66.1	0	0.0	35	59.3												
EDA	2004	118	1010	96	81.4	81	68.6																
EDA	2005	106	1013	89	84.0																		
EDA	2006	119	1004																				

				2nd F	Fall	3rd F	all		4th Fal	l			5th Fa	I			6th Fal				7th Fal		
Department	Cohort	N 1st	Average	Cohort R	etained	Cohort R	etained	Cumulative Gr	aduated within	Cohort R	letained	Cumulative Gr	aduated within	Cohort R	Retained	Cumulative Gra	aduated within	Cohort R	etained	Cumulative Gra	aduated within	Cohort R	etained
Department	Conon	Fall	SATC	Within Sar	me Dept	Within Sa	me Dept	3 yrs in S	ame Dept	Within Sa	me Dept	4 yrs* in S	ame Dept	Within Sa	me Dept	5 yrs in Sa	ame Dept	Within Sa	me Dept	6 yrs in Sa	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
EDE	1992	86	974	77	89.5	63	73.3	0	0.0	62	72.1	35	40.7	23	26.7	56	65.1	2	2.3	57	66.3	0	0.0
EDE	1993	85	973	70	82.4	59	69.4	0	0.0	52	61.2	29	34.1	20	23.5	47	55.3	2	2.4	49	57.6	1	1.2
EDE	1994	61	985	46	75.4	39	63.9	0	0.0	41	67.2	22	36.1	17	27.9	37	60.7	3	4.9	40	65.6	0	0.0
EDE	1995	65	985	55	84.6	50	76.9	0	0.0	47	72.3	19	29.2	26	40.0	43	66.2	1	1.5	44	67.7	0	0.0
EDE	1996	86	1065	71	82.6	61	70.9	0	0.0	56	65.1	31	36.0	25	29.1	52	60.5	2	2.3	54	62.8	1	1.2
EDE	1997	80	1085	66	82.5	60	75.0	0	0.0	54	67.5	20	25.0	30	37.5	46	57.5	2	2.5	47	58.8	1	1.3
EDE	1998	87	1092	77	88.5	68	78.2	2	2.3	61	70.1	33	37.9	26	29.9	60	69.0	0	0.0	60	69.0	0	0.0
EDE	1999	90	1081	74	82.2	60	66.7	0	0.0	56	62.2	33	36.7	19	21.1	51	56.7	0	0.0	51	56.7	0	0.0
EDE	2000	110	1079	89	80.9	78	70.9	0	0.0	74	67.3	43	39.1	28	25.5	68	61.8	4	3.6	71	64.5	0	0.0
EDE	2001	103	1089	91	88.3	79	76.7	0	0.0	78	75.7	51	49.5	24	23.3	73	70.9	0	0.0				
EDE	2002	91	1090	77	84.6	71	78.0	0	0.0	67	73.6	51	56.0	12	13.2								
EDE	2003	121	1092	105	86.8	63	52.1	0	0.0	81	66.9												
EDE	2004	107	1107	91	85.0	80	74.8																
EDE	2005	101	1102	86	85.1																		
EDE	2006	85	1116																				

#### College of Health Sciences

College of He																							
				2nd	Fall	3rd I	all		4th Fa				5th Fa	11			6th Fa	ll			7th Fa		
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort R	etained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative G	raduated within	Cohort I	Retained	Cumulative Gra	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	ame Dept	Within Sa	me Dept	3 yrs in S	Same Dept	Within Sa	ame Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	Same Dept	Within Sa	ame Dept	6 yrs in Sa	ame Dept	Within Sa	ame Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
HEA	1992	18	984	14	77.8	10	55.6	0	0.0	8	44.4	2	11.1	2	11.1	5	5 27.8	0	0.0	5	27.8	0	0.0
HEA	1993	14	935	11	78.6	9	64.3	0	0.0	5	35.7	2	14.3	3	21.4	5	35.7	0	0.0	5	35.7	0	0.0
HEA	1994	22	904	13	59.1	10	45.5	0	0.0	6	27.3	2	9.1	4	18.2	5	5 22.7	1	4.5	5	22.7	1	4.5
HEA	1995	19	909	14	73.7	11	57.9	0	0.0	10	52.6	4	21.1	5	26.3	6	31.6	1	5.3	8	42.1	0	0.0
HEA	1996	15	955	12	80.0	10	66.7	0	0.0	8	53.3	3	20.0	5	33.3	8	53.3	0	0.0	8	53.3	0	0.0
HEA	1997	14	972	6	42.9	5	35.7	0	0.0	4	28.6	3	21.4	0	0.0	3	3 21.4	0	0.0	3	21.4	0	0.0
HEA	1998	24	1023	19	79.2	14	58.3	0	0.0	11	45.8	8	33.3	1	4.2	g	37.5	0	0.0	9	37.5	0	0.0
HEA	1999	13	1040	10	76.9	7	53.8	0	0.0	3	23.1	2	15.4	2	15.4	3	3 23.1	0	0.0	3	23.1	0	0.0
HEA	2000	14	1024	10	71.4	8	57.1	0	0.0	7	50.0	6	42.9	1	7.1	6	6 42.9	0	0.0	6	42.9	0	0.0
HEA	2001	9	988	6	66.7	5	55.6	0	0.0	5	55.6	5	55.6	0	0.0	5	55.6	0	0.0				
HEA	2002	15	1020	13	86.7	9	60.0	0	0.0	9	60.0	6	40.0	3	20.0								
HEA	2003	16	1068	12	75.0	12	75.0	0	0.0	11	68.8												
HEA	2004	27	1025	22	81.5	18	66.7																
HEA	2005	21	1008	17	81.0																		
HEA	2006	29	1054																				

				2nd I	all	3rd F	all		4th Fal				5th Fal				6th Fa				7th Fal		
Department	Cohort	N 1st	Average	Cohort R	etained	Cohort R	etained	Cumulative Gr	aduated within	Cohort F	letained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort R	Retained
Department	Conon	Fall	SATC	Within Sa	me Dept	Within Sa	me Dept	3 yrs in S	ame Dept	Within Sa	me Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	me Dept	6 yrs in Sa	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
HPE	1992	45	969	33	73.3	24	53.3	0	0.0	20	44.4	5	11.1	12	26.7	12	26.7	3	6.7	12	26.7	1	2.2
HPE	1993	57	957	38	66.7	29	50.9	0	0.0	22	38.6	4	7.0	17	29.8	16	28.1	5	8.8	19	33.3	1	1.8
HPE	1994	42	971	36	85.7	27	64.3	0	0.0	22	52.4	4	9.5	16	38.1	18	42.9	1	2.4	19	45.2	0	0.0
HPE	1995	39	940	31	79.5	29	74.4	0	0.0	24	61.5	1	2.6	23	59.0	14	35.9	8	20.5	20	51.3	1	2.6
HPE	1996	53	1036	40	75.5	35	66.0	0	0.0	27	50.9	3	5.7	20	37.7	18	34.0	3	5.7	21	39.6	0	0.0
HPE	1997	60	1047	52	86.7	43	71.7	0	0.0	38	63.3	4	6.7	32	53.3	30	50.0	4	6.7	33	55.0	0	0.0
HPE	1998	81	1017	68	84.0	55	67.9	0	0.0	50	61.7	5	6.2	34	42.0	32	39.5	4	4.9	34	42.0	1	1.2
HPE	1999	81	984	63	77.8	50	61.7	0	0.0	40	49.4	5	6.2	27	33.3	24	29.6	4	4.9	27	33.3	1	1.2
HPE	2000	91	998	75	82.4	66	72.5	0	0.0	61	67.0	12	13.2	39	42.9	33	36.3	14	15.4	41	45.1	4	4.4
HPE	2001	70	1022	61	87.1	52	74.3	0	0.0	47	67.1	8	11.4	30	42.9	34	48.6	2	2.9				
HPE	2002	55	997	50	90.9	44	80.0	0	0.0	38	69.1	8	14.5	28	50.9								
HPE	2003	75	1010	66	88.0	50	66.7	0	0.0	43	57.3												
HPE	2004	86	1044	68	79.1	59	68.6																
HPE	2005	75	1050	68	90.7																		
HPE	2006	81	1021																				

				2nd	Fall	3rd	Fall		4th Fal	II			5th Fa	I			6th Fa	II			7th Fal	I	
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort R	letained	Cumulative Gra	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort R	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	me Dept	Within Sa	me Dept	3 yrs in Sa	ame Dept	Within Sa	ame Dept	4 yrs* in S	Same Dept	Within Sa	me Dept	5 yrs in S	ame Dept	Within Sa	ame Dept	6 yrs in Sa	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
NUR	1992	51	987	47	92.2	44	86.3	1	2.0	41	80.4	24	47.1	10	19.6	31	60.8	2	3.9	33	64.7	1	2.0
NUR	1993	52	1008	43	82.7	38	73.1	0	0.0	35	67.3	18	34.6	14	26.9	30	57.7	2	3.8	31	59.6	1	1.9
NUR	1994	35	1001	24	68.6	22	62.9	0	0.0	21	60.0	17	48.6	3	8.6	19	54.3	1	2.9	20	57.1	0	0.0
NUR	1995	41	989	34	82.9	27	65.9	0	0.0	25	61.0	20	48.8	3	7.3	23	56.1	0	0.0	23	56.1	0	0.0
NUR	1996	23	1056	18	78.3	16	69.6	0	0.0	15	65.2	9	39.1	4	17.4	13	56.5	0	0.0	13	56.5	0	0.0
NUR	1997	32	1057	19	59.4	15	46.9	0	0.0	14	43.8	8	25.0	4	12.5	11	34.4	1	3.1	12	37.5	0	0.0
NUR	1998	32	1054	27	84.4	24	75.0	0	0.0	21	65.6	13	40.6	7	21.9	18	56.3	3	9.4	20	62.5	1	3.1
NUR	1999	43	1045	36	83.7	28	65.1	0	0.0	24	55.8	14	32.6	8	18.6	23	53.5	0	0.0	23	53.5	0	0.0
NUR	2000	45	1030	37	82.2	30	66.7	0	0.0	25	55.6	13	28.9	11	24.4	22	48.9	1	2.2	23	51.1	0	0.0
NUR	2001	38	1038	30	78.9	29	76.3	0	0.0	26	68.4	13	34.2	12	31.6	23	60.5	2	5.3				
NUR	2002	57	1060	49	86.0	43	75.4	0	0.0	40	70.2	15	26.3	21	36.8								
NUR	2003	63	1090	55	87.3	54	85.7	1	1.6	49	77.8												
NUR	2004	59	1096	54	91.5	50	84.7																
NUR	2005	48	1118	43	89.6																		
NUR	2006	57	1128																				

				2nd F	Fall	3rd	Fall		4th Fal	I			5th Fal	l			6th Fal				7th Fa	I	
Department	Cohort	N 1st	Average	Cohort R	etained	Cohort R	etained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sar	ne Dept	Within Sa	me Dept	3 yrs in S	ame Dept	Within Sa	ame Dept	4 yrs* in S	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	me Dept	6 yrs in S	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
SPM	1992	12	1079	10	83.3	9	75.0	0	0.0	8	66.7	5	41.7	1	8.3	6	50.0	0	0.0	6	50.0	0	0.0
SPM	1993	14	1114	12	85.7	11	78.6	0	0.0	9	64.3	7	50.0	1	7.1	8	57.1	1	7.1	8	57.1	0	0.0
SPM	1994	19	1087	19	100.0	15	78.9	0	0.0	14	73.7	7	36.8	6	31.6	13	68.4	0	0.0	13	68.4	0	0.0
SPM	1995	21	1053	17	81.0	15	71.4	0	0.0	14	66.7	12	57.1	2	9.5	14	66.7	0	0.0	14	66.7	0	0.0
SPM	1996	23	1127	18	78.3	18	78.3	0	0.0	15	65.2	9	39.1	5	21.7	14	60.9	0	0.0	14	60.9	0	0.0
SPM	1997	21	1154	20	95.2	18	85.7	0	0.0	15	71.4	11	52.4	4	19.0	13	61.9	0	0.0	13	61.9	0	0.0
SPM	1998	30	1135	30	100.0	27	90.0	0	0.0	21	70.0	14	46.7	2	6.7	15	50.0	0	0.0	16	53.3	0	0.0
SPM	1999	30	1128	26	86.7	20	66.7	0	0.0	19	63.3	16	53.3	1	3.3	17	56.7	0	0.0	17	56.7	0	0.0
SPM	2000	25	1151	19	76.0	17	68.0	0	0.0	12	48.0	9	36.0	2	8.0	11	44.0	0	0.0	11	44.0	0	0.0
SPM	2001	29	1086	25	86.2	19	65.5	0	0.0	17	58.6	9	31.0	5	17.2	14	48.3	0	0.0				
SPM	2002	35	1104	31	88.6	26	74.3	0	0.0	21	60.0	17	48.6	0	0.0								
SPM	2003	31	1127	28	90.3	21	67.7	0	0.0	16	51.6												
SPM	2004	29	1106	23	79.3	21	72.4																
SPM	2005	30	1096	29	96.7																		
SPM	2006	37	1117																				

				2nd	Fall	3rd	Fall		4th Fa	II			5th Fa	II			6th Fal	I			7th Fal	I	
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort R	Retained	Cumulative Gr	raduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort	Retained	Cumulative Gra	aduated within	Cohort R	Retained	Cumulative Gr	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	me Dept	Within Sa	me Dept	3 yrs in S	Same Dept	Within Sa	ame Dept	4 yrs* in S	Same Dept	Within S	ame Dept	5 yrs in Sa	ame Dept	Within Sa	me Dept	6 yrs in S	ame Dept	Within Sa	ame Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
SPP	1992	10	986	8	80.0	6	60.0	0	0.0	6	60.0	6	60.0	C	0.0	6	60.0	0	0.0	6	60.0	0	0.0
SPP	1993	5	963	4	80.0	4	80.0	0	0.0	2	40.0	2	40.0	C	0.0	2	40.0	0	0.0	2	40.0	0	0.0
SPP	1994	5	1016	3	60.0	3	60.0	0	0.0	3	60.0	2	40.0	1	20.0	3	60.0	0	0.0	3	60.0	0	0.0
SPP	1995	7	1064	7	100.0	6	85.7	0	0.0	6	85.7	6	85.7	C	0.0	6	85.7	0	0.0	6	85.7	0	0.0
SPP	1996	15	1104	11	73.3	10	66.7	0	0.0	6	40.0	7	46.7	C	0.0	7	46.7	0	0.0	7	46.7	0	0.0
SPP	1997	24	1058	18	75.0	13	54.2	0	0.0	12	50.0	10	41.7	1	4.2	11	45.8	0	0.0	11	45.8	0	0.0
SPP	1998	13	1123	10	76.9	7	53.8	0	0.0	6	46.2	5	38.5	1	7.7	5	38.5	0	0.0	5	38.5	0	0.0
SPP	1999	7	1037	6	85.7	5	71.4	0	0.0	4	57.1	4	57.1	C	0.0	4	57.1	0	0.0	4	57.1	0	0.0
SPP	2000	16	1038	13	81.3	8	50.0	0	0.0	7	43.8	4	25.0	2	12.5	6	37.5	0	0.0	6	37.5	0	0.0
SPP	2001	9	1028	7	77.8	5	55.6	0	0.0	5	55.6	5	55.6	C	0.0	5	55.6	0	0.0				
SPP	2002	13	1078	10	76.9	6	46.2	0	0.0	6	46.2	5	38.5	C	0.0								
SPP	2003	9	1090	9	100.0	8	88.9	0	0.0	8	88.9												
SPP	2004	14	1074	12	85.7	10	71.4																
SPP	2005	12	1106	10	83.3																		
SPP	2006	21	1101																				

#### College of Visual and Performing Arts

				2nd	Fall	3rd	Fall		4th Fa				5th Fa				6th Fal	1			7th Fa	l	
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort F	Retained	Cumulative Gr	raduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort R	letained
Department	Conort	Fall	SATC	Within Sa	me Dept	Within Sa	ime Dept	3 yrs in S	Same Dept	Within Sa	ame Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	me Dept	6 yrs in S	ame Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
** APM	2003	11	1059	8	72.7	5	45.5	0	0.0	4	36.4												
APM	2004	7	1191	5	71.4	4	57.1																
APM	2005	6	1127	3	50.0																		
APM	2006	10	1149																				

				2nd	Fall	3rd	Fall		4th Fa	II			5th Fa				6th Fa				7th Fa		
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort F	Retained	Cumulative G	raduated within	Cohort I	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained
Department	Conort	Fall	SATC	Within Sa	me Dept	Within Sa	ame Dept	3 yrs in S	Same Dept	Within Sa	ame Dept	4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	ame Dept	6 yrs in S	ame Dept	Within Sa	ame Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
** ART	-2003	Prior to fa	all 2004, AF	RT and THA	A were in C	CAS. See a	above																
ART	2004	26	1050	19	73.1	14	53.8																
ART	2005	22	1034	16	72.7																		
ART	2006	17	1049																				

				2nd	Fall	3rd I	all		4th Fal	1			5th Fa	ll			6th Fal	1			7th Fal		
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort R	etained	Cumulative Gr	aduated within	Cohort R	etained	Cumulative Gr	aduated within	Cohort R	letained	Cumulative Gra	aduated within	Cohort R	etained	Cumulative Gra	aduated within	Cohort R	etained
Department	Conon	Fall	SATC	Within Sa	me Dept	Within Sa	me Dept	3 yrs in S	ame Dept	Within Sa	me Dept	4 yrs* in S	Same Dept	Within Sa	me Dept	5 yrs in Sa	ame Dept	Within Sa	me Dept	6 yrs in Sa	ame Dept	Within Sar	ne Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
** INM	1992	5	1080	5	100.0	4	80.0	0	0.0	4	80.0	1	20.0	1	20.0	2	40.0	0	0.0	2	40.0	0	0.0
INM	1993	1	1430	1	100.0	1	100.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
INM	1994	6	1053	4	66.7	2	33.3	0	0.0	1	16.7	0	0.0	1	16.7	0	0.0	0	0.0	0	0.0	0	0.0
INM	1995	3	1093	2	66.7	2	66.7	0	0.0	2	66.7	1	33.3	1	33.3	2	66.7	0	0.0	2	66.7	0	0.0
INM	1996	5	1106	4	80.0	2	40.0	0	0.0	2	40.0	2	40.0	0	0.0	2	40.0	0	0.0	2	40.0	0	0.0
INM	1997	3	1100	2	66.7	2	66.7	1	33.3	1	33.3	2	66.7	0	0.0	2	66.7	0	0.0	2	66.7	0	0.0
INM	1998	4	1190	3	75.0	2	50.0	0	0.0	1	25.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
INM	1999	3	1033	3	100.0	2	66.7	0	0.0	2	66.7	2	66.7	0	0.0	2	66.7	0	0.0	2	66.7	0	0.0
INM	2000	4	980	3	75.0	3	75.0	0	0.0	3	75.0	0	0.0	2	50.0	2	50.0	0	0.0	2	50.0	0	0.0
INM	2001	6	1168	5	83.3	4	66.7	0	0.0	3	50.0	0	0.0	2	33.3	2	33.3	0	0.0				
INM	2002	5	1124	3	60.0	2	40.0	0	0.0	2	40.0	0	0.0	1	20.0								
INM	2003 +	Starting	fall 2003. IN	IM KEM an	d VCM we	re combine	d into APN	<ol> <li>See above</li> </ol>															

				2nd	Fall	3rd	Fall		4th Fal	l			5th Fa				6th Fal				7th Fal	l	
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort I	Retained	Cumulative Gr	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	ame Dept	Within Sa	ame Dept	3 yrs in S	ame Dept	Within Sa	ame Dept	4 yrs* in S	Same Dept	Within Sa	ame Dept	5 yrs in S	ame Dept	Within Sa	ame Dept	6 yrs in S	ame Dept	Within Sa	ame Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
** KEM	1992	3	1017	3	100.0	3	100.0	0	0.0	3	100.0	0	0.0	3	100.0	2	66.7	1	33.3	2	66.7	0	0.0
KEM	1993	1	1150	1	100.0	1	100.0	0	0.0	1	100.0	0	0.0	1	100.0	0	0.0	1	100.0	1	100.0	0	0.0
KEM	1994	0	-																				ı
KEM	1995	0	-																				ı
KEM	1996	2	950	2	100.0	1	50.0	0	0.0	1	50.0	0	0.0	1	50.0	1	50.0	0	0.0	1	50.0	0	0.0
KEM	1997	1	1250	1	100.0	1	100.0	0	0.0	1	100.0	1	100.0	0	0.0	1	100.0	0	0.0	1	100.0	0	0.0
KEM	1998	1	1110	1	100.0	1	100.0	0	0.0	1	100.0	1	100.0	0	0.0	1	100.0	0	0.0	1	100.0	0	0.0
KEM	1999	3	1180	2	66.7	2	66.7	0	0.0	2	66.7	0	0.0	0	0.0	0	0.0	0	0.0	1	33.3	0	0.0
KEM	2000	0	-																				ı
KEM	2001	0	-																				i
KEM	2002	0	-																				1
KEM	2003 +	Starting	fall 2003, IN	IM KEM ar	nd VCM we	re combin	ed into API	M. See above			-				•				•	•			

				2nd	Fall	3rd	Fall		4th Fa				5th Fa				6th Fa			7th Fall				
Department	Cohort	N 1st	Average	Cohort F	Retained	Cohort R	letained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	
Department	CONOIL	Fall	SATC	Within Sa	ame Dept	Within Sa	me Dept	3 yrs in Same Dept		Within Same Dept		4 yrs* in 8	Same Dept	Within Sa	ame Dept	5 yrs in Same Dept		Within Same Dept		6 yrs in S	ame Dept	Within Sa	me Dept	
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	
MTC	1992	1	1130	1	100.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	
MTC	1993	0	-																					
MTC	1994	0	-																					
MTC	1995	1	900	1	100.0	1	100.0	0	0.0	1	100.0	1	100.0	0	0.0	1	100.0	0	0.0	1	100.0	0	0.0	
MTC	1996	1	1300	1	100.0	1	100.0	0	0.0	1	100.0	1	100.0	0	0.0	1	100.0	0	0.0	1	100.0	0	0.0	
MTC	1997	1	-	1	100.0	1	100.0	0	0.0	1	100.0	0	0.0	1	100.0	1	100.0	0	0.0	1	100.0	0	0.0	
MTC	1998	0	-																					
MTC	1999	2	1195	2	100.0	2	100.0	0	0.0	2	100.0	2	100.0	0	0.0	2	100.0	0	0.0	2	100.0	0	0.0	
MTC	2000	2	1235	1	50.0	1	50.0	0	0.0	1	50.0	0	0.0	1	50.0	1	50.0	0	0.0	1	50.0	0	0.0	
MTC	2001	2	1005	1	50.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0					
MTC	2002	8	1106	4	50.0	3	37.5	0	0.0	2	25.0	2	25.0	0	0.0									
MTC	2003	5	1114	2	40.0	1	20.0	0	0.0	1	20.0													
MTC	2004	5	1146	4	80.0	1	20.0																	
MTC	2005	3	1200	2	66.7																			
MTC	2006	8	1100																					

				2nd	Fall	3rd F	all		4th Fal	I			5th Fa	I			6th Fal				7th Fal	I	
Department	Cohort	N 1st	Average	Cohort R	etained	Cohort R	etained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gra	aduated within	Cohort R	Retained	Cumulative Gra	aduated within	Cohort F	Retained	Cumulative Gra	duated within	Cohort R	tetained
Department	Conon	Fall	SATC	Within Sa	me Dept	Within Sa	me Dept	3 yrs in S	ame Dept	Within Sa	ime Dept	4 yrs* in S	Same Dept	Within Sa	me Dept	5 yrs in Sa	ame Dept	Within Sa	ame Dept	6 yrs in Sa	me Dept	Within Sa	me Dept
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
MUE	1992	58	996	46	79.3	35	60.3	0	0.0	29	50.0	13	22.4	12	20.7	24	41.4	0	0.0	24	41.4	0	0.0
MUE	1993	63	1024	51	81.0	47	74.6	0	0.0	36	57.1	22	34.9	13	20.6	33	52.4	1	1.6	34	54.0	0	0.0
MUE	1994	65	1010	51	78.5	41	63.1	0	0.0	38	58.5	26	40.0	10	15.4	33	50.8	1	1.5	34	52.3	0	0.0
MUE	1995	65	1002	56	86.2	44	67.7	0	0.0	38	58.5	29	44.6	8	12.3	37	56.9	0	0.0	37	56.9	0	0.0
MUE	1996	60	1105	49	81.7	45	75.0	0	0.0	41	68.3	22	36.7	16	26.7	36	60.0	0	0.0	36	60.0	1	1.7
MUE	1997	82	1078	68	82.9	57	69.5	0	0.0	50	61.0	25	30.5	19	23.2	39	47.6	2	2.4	39	47.6	0	0.0
MUE	1998	84	1085	62	73.8	46	54.8	0	0.0	34	40.5	19	22.6	10	11.9	26	31.0	2	2.4	27	32.1	1	1.2
MUE	1999	92	1105	76	82.6	62	67.4	0	0.0	49	53.3	30	32.6	12	13.0	36	39.1	2	2.2	36	39.1	1	1.1
MUE	2000	101	1096	83	82.2	62	61.4	0	0.0	49	48.5	17	16.8	24	23.8	32	31.7	4	4.0	35	34.7	1	1.0
MUE	2001	79	1108	69	87.3	60	75.9	0	0.0	53	67.1	28	35.4	20	25.3	42	53.2	1	1.3				
MUE	2002	79	1111	57	72.2	42	53.2	0	0.0	31	39.2	13	16.5	10	12.7								
MUE	2003	78	1141	66	84.6	51	65.4	1	1.3	40	51.3												
MUE	2004	78	1140	62	79.5	59	75.6																
MUE	2005	76	1160	66	86.8																		
MUE	2006	94	1129																				

				2nd Fall Cohort Retained Within Same Dept		3rd	Fall	4th Fall					5th Fa				6th Fa	11		7th Fall			
Department	Cohort	N 1st	Average			Cohort F			Cumulative Graduated within		Cohort Retained		Cumulative Graduated within		Cohort Retained		Cumulative Graduated within		Retained			Cohort F	Retained
Department	Conon	Fall	SATC			Within Same Dept		3 yrs in Same Dept Within Sa		thin Same Dept 4		4 yrs* in Same Dept		Within Same Dept		5 yrs in Same Dept		ame Dept	t 6 yrs in Same Dept		Within Same Dept		
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
** THA	-2003	003 Prior to fall 2004, ART and THA were in CAS. See above																					
THA	2004	23	999	14	60.9	11	47.8																
THA	2005	24	1100	16	66.7																		ı
THA	2006	28	1104																				ı

				2nd	Fall	3rd	Fall		4th Fal	l			5th Fal				6th Fal			7th Fall			
Department	Cohort	N 1st	Average	Cohort R	Retained	Cohort F	Retained	Cumulative Gr	aduated within	Cohort R	etained	Cumulative Gra	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained	Cumulative Gr	aduated within	Cohort F	Retained
Department	Conon	Fall	SATC	Within Sa	me Dept	Within Sa	ame Dept	3 yrs in Same Dept		Within Same Dept		4 yrs* in Same Dept		Within Same Dept		5 yrs in Same Dept		Within Same Dept		6 yrs in Same Dept		Within Same Dept	
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
** VCM	1992	1	1280	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
VCM	1993	1	1290	1	100.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
VCM	1994	2	1080	2	100.0	1	50.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
VCM	1995	3	930	1	33.3	1	33.3	0	0.0	1	33.3	1	33.3	0	0.0	1	33.3	0	0.0	1	33.3	0	0.0
VCM	1996	2	1145	1	50.0	1	50.0	0	0.0	1	50.0	1	50.0	0	0.0	1	50.0	0	0.0	1	50.0	0	0.0
VCM	1997	1	1090	0	0.0	1	100.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
VCM	1998	1	1230	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
VCM	1999	2	1190	2	100.0	2	100.0	0	0.0	1	50.0	1	50.0	0	0.0	1	50.0	0	0.0	1	50.0	0	0.0
VCM	2000	2	1085	1	50.0	2	100.0	0	0.0	1	50.0	1	50.0	0	0.0	1	50.0	0	0.0	1	50.0	0	0.0
VCM	2001	0	-																				
VCM	2002	0	-																				
VCM	2003 +	Starting	fall 2003, IN	M KEM an	d VCM we	re combine	ed into API	M. See above															

#### Educational Services

				2nd Fall		3rd Fall			4th Fa				5th Fa				6th Fal	I			7th Fa	II	
Department	Cohort	N 1st	Average	Cohort R	etained	Cohort F	Retained		aduated within	Cohort F	Retained		raduated within	Cohort F	Retained	Cumulative Gr		Cohort I	Retained	Cumulative G		Cohort I	Retained
Department	CONOIL	Fall	SATC	Within Sa	me Dept			3 yrs in Same Dept		Within Same Dept				Within Same Dept				Within Same Dept		6 yrs in S	ame Dept	Within Same Dept	
				n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F	n	% 1F
EDS	1992	527	894	345	65.5	100	19.0	0	0.0	40	7.6	0	0.0	12	2.3	0	0.0	5	0.9	0	0.0	2	0.4
EDS	1993	521	888	371	71.2	113	21.7	0	0.0	29	5.6	0	0.0	12	2.3	0	0.0	2	0.4	0	0.0	2	0.4
EDS	1994	527	878	387	73.4	149	28.3	0	0.0	40	7.6	0	0.0	11	2.1	0	0.0	4	0.8	0	0.0	4	0.8
EDS	1995	543	874	386	71.1	135	24.9	0	0.0	34	6.3	0	0.0	14	2.6	0	0.0	9	1.7	0	0.0	4	0.7
EDS	1996	581	959	396	68.2	167	28.7	0	0.0	52	9.0	0	0.0	19	3.3	0	0.0	5	0.9	0	0.0	4	0.7
EDS	1997	630	971	463	73.5	184	29.2	0	0.0	67	10.6	0	0.0	17	2.7	0	0.0	2	0.3	0	0.0	3	0.5
EDS	1998	598	990	460	76.9	201	33.6	0	0.0	43	7.2	0	0.0	14	2.3	0	0.0	5	0.8	0	0.0	3	0.5
EDS	1999	607	985	460	75.8	179	29.5	0	0.0	47	7.7	0	0.0	11	1.8	0	0.0	2	0.3	0	0.0	1	0.2
EDS	2000	638	981	467	73.2	180	28.2	0	0.0	41	6.4	0	0.0	9	1.4	0	0.0	3	0.5	0	0.0	1	0.2
EDS	2001	611	989	434	71.0	178	29.1	0	0.0	47	7.7	0	0.0	13	2.1	0	0.0	3	0.5				
EDS	2002	664	988	457	68.8	181	27.3	0	0.0	39	5.9	0	0.0	9	1.4								
EDS	2003	596	997	427	71.6	180	30.2	0	0.0	62	10.4												
EDS	2004	610	1011	413	67.7	152	24.9																
EDS	2005	637	1011	455	71.4																		
EDS	2006	591	1007																				

\*Number and percent of original cohort who have graduated within 4 years (before 5th fall). With August 2006 degree sweeps through 10/2006 and IPEDS exclusions.

\*\*Students in ART and THA are reported under CAS prior to 2004. Starting with the fall 2004 cohort, these students are counted under CVPA

\*\*\*INM, KEM and VCM were combined into APM in fall 2003.